Akersberga BS

IVAR Simultan 2023-01-31

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poéang % Namn MID Klubb
1 15 217 64.58  UIf Andersson - Karin Nilsson 84456 200239 Akersberga BS
2 11 207 61.61 Sven Mellgvist - Urban Ledin 50225 2230 Akersberga BS
3 8 205 61.01  Britt Edlund - Sten Frykholm 10455 62363  Akersberga BS
4 3 198 58.93 Ove Jansson - Inga Nyberg 9090 33178  Akersberga BS
5 5 197 58.63  Kjell Soderlund - Monica Soderlund 11466 79676  Akersberga BS
6 10 189 56.25 Yngve Frolander - Hans Ohrling 14452 25090  Akersberga BS
7 16 175 52.08 Ingrid Sivertsson - Gunilla Ostervall 21155 9131 Norrorts Bridge - Akersberga BS
8 13 171 50.89 Sven Alenius - Carl-Johan Tersmeden 54714 55579  Akersberga BS
9 4 160 47.62  Ulla Lundh - Anita Salomonsson 60275 83064  Akersberga BS
10 14 156 46.43  Kerstin Fernbrink - Roger Jaderberg 60281 54330 Akersberga BS
11 1 155 46.13  Jan Holm - Bertil Blomgvist 54966 52968  Akersberga BS
12 7 154 45.83 Irene Rosell - Ann-Margret Stenbeck 200966 201397 Akersberga BS
13 9 148 44.05 Margareta Sjogren - Ulla Holm 59271 54331  Akersberga BS
14 2 141 41.96 Klas Holm - UIf Tragardh 17148 60283  Akersberga BS
15 6 117 34.82 Maja Tell - Lars-Goran EIm 61230 67597  Akersberga BS
16 12 98 29.17 Helga Gauert - Jan Skaring 60280 59955  Akersberga BS
1 4« D9864 Bésta kontrakt 2 4 Kn10976 Bésta kontrakt 3 &« K76 Bésta kontrakt
Nord v K10 2NTOD-1100 |Ost v75 34 S =140 Syd v KD86 44 S =420
Ingen .7 NS 4 Kn952 ov + EK105
#K10753 & ¢ v & NT #E3 & ¢ v & NT *75 & ¢ v & NT
41032 4KKn5 N7 7 7 86 4543 48 N59 896 « D95 3 N5 9 7 107
vED4 v652 S7 7786 v8432 vE96 S587 96 v 1043 vE972 S5 9 7 107
+ D108 ¢ Kn654 06 6 457 ¢+EB6 ¢ K104 08 4434 ¢ Kn83 ¢ D42 08 46 35
#D842 &EKn6 V66457 #1095 &#KKn7642 V 8 4 4 3 4 #DKn106 #EK842 V 8 46 36
s E7 & EKD2 4 EKn10842
v Kn9873 v KDKn10 v Kn5
+ EK932 + D73 4976
9 «D8 #93
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 11 2NN+1 %6 150 140 00| 3 5 44 N-= *5 620 11.0 3.0|11 3 44 S= *Q 420 13.0 1.0
10 2 24 N+1 @A 140 120 20|13 1 44 N-= *4 620 11.0 3.0|13 2 44 S= *6 420 13.0 1.0
14 7 2vS= L Y 110 9.0 50|14 7 44 N-= vA 620 11.0 3.0| 1 16 24 S+1 #Q 140 8.0 6.0
16 12 2v S= +8 110 9.0 50|15 6 44 N= vA 620 11.0 30| 4 6 34 S= *Q 140 8.0 6.0
15 6 34 N-1 ¢5 -50 6.0 80| 8 11 34 N+1 vA 170 50 9.0| 9 12 34 S= *6 140 8.0 6.0
9 4 3NN-2 *A -100 3.0 11.0|16 12 24 N+2 &2 170 50 9.0| 7 15 44 N-1 *A -50 20 12.0
13 1 2vS-2 *4 -100 3.0 11.0| 9 4 2NS+1 v4 150 20 120|10 5 44 S-1 *Q -50 20 12.0
3 5 3NS4 *2 -200 0.0 140|10 2 54 N-1 48 -100 0.0 140|14 8 44 N-1 *A -50 20 120
4 « KD76 Bésta kontrakt 5 & KDKn72 Bésta kontrakt 6 & Kn72 Bésta kontrakt
Vast v3 34 N =140 Nord v 852 24 N =110 Ost v DKn82 34 O =-110
Alla ¢ EKKn2 NS ¢ 65 ov + Kn9873
#ED54 & ¢ v & NT #Kn104 & ¢ v & NT »3 & ¢ v & NT
4EKN10 4852 N 107 6 9 7 4853 4E109 N8 6 887 4EK95 4106 N4 4766
v K84 vDKn1062 S 107 6 9 7 vK10 vE943 S 86887 vEK109 v5 S 44766
+D10863 ¢ 75 0257 34 ¢ D984 ¢ Knl072 O5 75 44 + KD5 410642 098567
*Kn7 *K82 V26744 D762 %83 V57544 #94 #DKn8652 V 9 8 5 6 7
4943 464 4 D843
vE975 vDKn76 v 7643
+94 + EK3 +E
10963 #EK95 #EK107
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
11 3 3v0O-3 &T 300 140 00|11 6 3NS= +8 600 140 00|16 2 3vyDS= 4K 530 14.0 0.0
13 2 1a N+2 7 140 120 20|16 2 INS+1 ¢4 120 120 20|11 6 1v V-2 *3 200 120 2.0
4 6 1&4N+3 vQ 130 90 50| 5 7 2NS-1 »6 -100 80 6.0| 9 14 14 S+1 v9 110 9.0 5.0
9 12 44 N= v2 130 90 50| 8 15 INS-1 +8 -100 80 60|10 1 14 S+1 &9 110 9.0 5.0
7 15 1¢ N= vQ 70 40 10013 3 44 N-1 +J -100 80 6.0|13 3 3NV-1 +3 100 6.0 8.0
10 5 1¢ N= vQ 70 40 100| 9 14 3NS-2 a2 -200 30 110| 5 7 2vS-1 aA -50 4.0 10.0
14 8 1¢ N= vQ 70 40 100|10 1 3NS-2 +8 -200 3.0 11.0|12 4 2NV= +J -120 20 12.0
1 16 1¢ N-1 vQ -100 0.0 140|12 4 3NS-4 *4 -400 0.0 140| 8 15 14DS-3 vA -500 0.0 14.0
7 4 Kn8543 Basta kontrakt 8 4 D98762 Basta kontrakt 9 » EKKn84 Basta kontrakt
Syd v Kn82 3¢ V =-110 Vast vD 3v V =-140 Nord v 642 34 N =110
Alla + KD6 Ingen 4654 ov +73
»86 & ¢ v & NT #Kn105 & ¢ v & NT #EK8 & ¢ v & NT
4ED62 41097 N4 4866 & KKn4 41053 N8 6 374 4 D1052 49763 N9 8556
vK103 v6 S 44866 vK1098653 v Kn42 S86 474 v EKKn753 v108 S 98556
¢E932 ¢ Knl085 089477 + D32 ¢ Kn97 05596 8 ¢+ Kn ¢ E10865 024775
«97 #EDKN105 VvV 8 9 4 7 7 - #EKDS8 V559638 *Kn6 «107 V24775
oK o E a-
v ED9754 vE7 vD9
¢ 74 + EK108 + KD942
*K432 #976432 #D95432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 9 2NV-2 v2 200 140 0.0|10 14 4vDO-2 &J 300 140 00| 1 8 44S= vK 130 13.0 1.0
1 5 2¢vS+1 &9 140 10.0 40| 3 16 4vDV-1 42 100 11.0 3.0|16 4 44S= vA 130 13.0 1.0
3 16 2vy S+1 &9 140 100 4.0|15 9 4v V-2 *J 100 11.0 3.0|15 10 3v V-1 *7 100 10.0 4.0
10 14 3v S= 29 140 100 40|12 7 3v V-1 a2 50 80 60| 7 9 54S-1 vA -50 70 7.0
6 8 2vS= «9 110 6.0 80|13 4 2vV= a2 -110 6.0 80(14 11 34 S-1 +J -50 70 7.0
11 2 24 V-1 v8 100 30 11.0| 6 8 3v V= 49 -140 40 100| 2 6 24 N-2 vT -100 4.0 10.0
13 4 24 V-1 v2 100 3.0 11.0|11 2 3vyDV= &J -530 20 120|13 5 3NN-3 vT -150 20 120
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12 7 24 V= +Q -110 0.0 140| 1 5 4vDV+1l &J -690 0.0 14012 3 34DN-5 T -1100 0.0 14.0
10 «E764 Basta kontrakt 11 4972 Basta kontrakt 12 & KKn2 Basta kontrakt
Ost vK 6y O =-1430 Syd v DKn762 3¢ V =-110 Vast v 984 3v V =-140
Alla + 1072 Ingen ¢ 65 NS + EKn10874
#Kn9876 & ¢ v & NT *K97 & ¢ v & NT *K & ¢ v & NT
4D852 4K3 N2 4131 4DKn54 4K106 N7 4755 4654 « E83 N3 8466
vD874 vE1092 S24121 v 95 vE108 S74756 vEK105 vDKn7 S 38466
¢EK6 ¢ Kn4 O 118 121011 ¢ KKn32 ¢ 10874 06 9576 +D 4962 O 105 9 6 7
*K2 #ED1054 VvV 118 129 11 #E106  #Kn54 V6957¢6 #E10542 #D863 V 105 9 6 7
+ Kn109 «E83 « D1097
v Kn653 v K43 v 632
+ D9853 ¢ ED9 ¢ K53
3 «D832 *Kn97
Par Kontr ut Res Poang Par Kontr ut Res Poéng Par Kontr Ut Res Poéng
2 6 4v V-1 oA 100 120 20| 8 10 INS+2 2 150 130 10| 1 4 3¢ N= vQ 110 13.0 1.0
7 9 4v V-1 *7 100 120 20|13 6 INS+2 +3 150 13.0 10| 3 7 2¢ N+1 #Q 110 13.0 1.0
13 5 4v V-1 a4 100 120 20|14 12 2v S+1 %6 140 100 40| 2 9 2v V-1 ¢A 50 10.0 4.0
14 11 3NV= a4 -600 80 60| 3 7 2vS= a4 110 70 7.0[ 5 16 3¢ N-1 3 -100 70 7.0
1 8 4v 0= &3 -620 50 9.0|11 15 2v S= 45 110 70 7.0(14 12 3¢ N-1 &3 -100 70 7.0
16 4 4v V= *6 -620 50 90| 5 16 INS= a4 90 4.0 100| 8 10 3#V+l v9 -130 3.0 11.0
15 10 3NV +2 ¢2 -660 20 120 2 9 3vN-1 aT -50 20 120|11 15 32V+1l +A -130 3.0 11.0
12 3 3NO+3 ¢3 -690 0.0 140| 1 4 2¢ V= vQ -90 0.0 140|113 6 34 S-3 &A -300 0.0 14.0
13 41083 Bésta kontrakt 14 « ED98 Bésta kontrakt 15 &« E95 Bésta kontrakt
Nord vD76 3# N =110 Ost vE109 24 S =90 Syd vKn76 4v V =-420
Alla + Kn8 Ingen ¢ 63 NS +10942
#EK1097 & ¢ v & NT #ED83 & ¢ v & NT *K73 & ¢ v & NT
2 Kn65 4 EKDA42 N9 5857 4643 4K1072 N8 6 6 67 2108632 &7 N6 5365
v10853 vK9 S$95857 vKn63 vKD54 S866 67 v 1085 v EK932 S65365
¢E1064 ¢ D972 048585 ¢ K87 ¢ EKn% 057775 ¢ EKD ¢ 8753 O5 8 106 6
*32 #65 V48585 #K642 #9 V477¢6F¢6 *Kn6 *E98 V 5 8 106 6
« 97 « Kn5 « KDKn4
v EKn42 v 872 vD4
+ K53 + D1052 + Kn6
#DKn84 #Kn1075 #D10542
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
3 10 34 O0-2 *Q 200 140 00|16 6 2v O-2 ] 100 140 00| 3 6 3v0O-1 *4 50 13.0 1.0
13 7 2¢ O-1 49 100 120 20| 3 10 INN= *4 90 120 20| 7 16 24 V-1 3 50 13.0 1.0
16 6 14 O= &4 -80 100 40| 1 14 2¢ 0-1 ] 50 9.0 50| 2 14 Pass 10.0 4.0
1 14 14 O+1 &8 -110 80 60| 4 8 2NO-1 a5 50 90 50|10 12 3vO= oK -140 70 7.0
9 11 14 O+2 vA -140 50 90| 9 11 14 N-1 9 -50 6.0 80(15 1 2v0+1 ¢J -140 70 7.0
12 15 14 O+2 v2 -140 50 90| 2 5 24S-2 v3 -100 20 120| 4 11 2¢v O+2 &K -170 2.0 12.0
2 5 140+3 v2 -170 2.0 12.0|12 15 2NN-2 ¢4 -100 20 120 5 9 3v O+l «K -170 20 12.0
4 8 4vS-4 ¢ A -400 00 140|13 7 24 N-2 *9 -100 20 120|113 8 2v O+2 &K -170 20 12.0
16 4 EKn6 Basta kontrakt 17 496 Basta kontrakt 18 & EKKn6542 Basta kontrakt
Vast v72 34 N =140 Nord v54 ANT O =-430 Ost v 107 6NT S = 1440
ov +95 Ingen ¢ E9875 NS ¢ EK9
#E109532 & ¢ v & NT #9542 & ¢ v & NT *9 & ¢ v & NT
4872 #1095 N8 6 89 8 210542 4 EDKn7 N37 233 a7 «D108 N 109 121211
v43 vED105 S868 9 8 vDKn987 v K6 S37 233 v 9842 v K5 S 109 121212
¢ EKn72 ¢ D863 056545 *2 ¢+ KD6 O 106 101010 ¢+ Knl108542 ¢ 76 034111
K874  #DKn V56445 *ED6 #KKn108 V 106 9 1010 *K2 21087653 VvV 3 4111
4 KD43 4 K83 +93
v KKn986 vE1032 v EDKn63
+ K104 + Kn1043 +D3
*6 *73 #EDKn4
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
10 12 2y N+1  #J 140 140 00|11 1 4v V-1 ¢J 50 140 00|11 1 6NN= &5 1440 14.0 0.0
13 8 2NS= 2 120 120 20|13 9 34 0= vA -140 120 20| 5 12 64 N= %6 1430 10.0 4.0
7 16 24 S= a2 110 100 40| 5 12 3NO= ¢3 -400 10.0 4.0(13 9 64 N= ¢6 1430 10.0 4.0
3 6 3NS-2 *7 -100 50 90| 4 7 440= &7 -420 70 7.0[15 2 64 N= ¢7 1430 10.0 4.0
4 11 24 S-2 *4 -100 50 9.0|15 2 44 0= ¢J -420 70 7.0(14 3 3NS+2 ¢J 660 6.0 8.0
5 9 3&4N-2 +3 -100 50 90| 6 10 3NO+1 4 -430 40 10.0| 6 10 44 N+1 7 650 3.0 11.0
15 1 3&N-2 +6 -100 50 90|14 3 3NO+2 ¢3 -460 10 13.0(16 8 44 N+1 &8 650 3.0 11.0
2 14 3vS-3 2 -150 0.0 140|16 8 3NO+2 ¢J -460 10 13.0| 4 7 3NS+1 ¢4 630 0.0 14.0
19 410432 Basta kontrakt 20 4 Kn10983 Basta kontrakt 21 4 DKn3 Basta kontrakt
Syd v 865 44 S D -3-500 Vast v EK102 ANT V =-630 Nord v Kn9742 3 N =110
oV ¢+ K2 Alla +43 NS ¢ EKn9
#D942 % ¢ v & NT 108 % ¢ v & NT *K4 & ¢ v & NT
«KD8 49 N6 5374 « ED6 754 N2566 2 «E107654 &K N9 87 77
vKD2  vKnl09743 S 6 5 3 7 4 v DKn4 v76 S2566 2 v 86 v EKD105 S986 77
¢Kn64 +E875 0789509 +10 ¢ EKKn85 O 118 6 7 10 +107 + D862 0456 65
#E1086 #K5 V789509 #EKDKN53 #972 vV 118 7 7 10 +D76 £932 V45666
# EKNn765 4 K2 # 982
vE v 9853 v3
+ D1093 + D9762 + K543
#Kn73 *64 #EKn1085
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
5 8 24DS= A 470 140 00|14 4 3«V= vA -110 140 00| 8 12 3vDO-3 +¢3 500 14.0 0.0
12 2 4v0-1 45 100 120 20|12 2 INV+3 &) -180 120 20| 4 15 2NN= vQ 120 11.0 3.0
9 16 34 S-3 vK -150 10.0 4.0( 9 16 2NV+3 v2 -210 10.0 40| 5 14 INN+1 ©vA 120 11.0 3.0
14 4 3vO+1 4A -170 80 60| 6 1 3NV+1l 43 -630 80 60| 6 9 INS= a4 90 8.0 6.0
7 11 29 O+3 45 -200 6.0 80| 3 15 3NV+2 ©vA -660 30 110 7 2 3v0O-1 &5 50 6.0 8.0
3 15 44DS-2 vK -300 40 100| 5 8 3NV+2 vA -660 3.0 11.0|16 10 2NO= »5 -120 4.0 10.0
6 1 4vV= T -620 10 13.0| 7 11 3NV+2 &J -660 30 11.0] 1 3 2NN-3 *6 -300 1.0 13.0
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13 10 4v O= s A 13 10 3NO+2 2 -660 3.0 11.0|13 11 2NN-3 vQ -300
22 «E82 Basta kontrakt « E10985 Basta kontrakt 24 « K873 Basta kontrakt
Ost v 10974 vE64 64 S =1430 Vast v 1064 3NTV =-400
ov 4653 +3 Ingen +53
#652 ¢ v oa #E932 & ¢ v & NT #9853 & ¢ v &N
4 KD5 4« Kn109763 9 106 4742 «D N9 9 8 1210 4Knl1052 #4E9 N4 466 4
vD8 v Kn65 9 106 v32 vKD875 S 9 9 8 1210 v K53 v 982 S 4466 4
+ 1082 ¢ DKn 4 37 49852 ¢ D1076 043513 ¢+ E762 ¢ KKn10 097779
#E10843 #D9 4 37 #K1075 #D86 V43513 *Kn7 *«ED1042 V976729
a4 & KKn63 « D64
v EK32 v Kn109 v EDKn7
+ EK974 + EKKn4 + D984
#KKn7 +Kn4 *K6
Par Kontr Ut Kontr Ut Res Poang Par Kontr Res g
8 12 34D0O-2 +¢K 00| 2 4 44 N+1 vK 650 90 50| 9 1 1laV= v6 -80 13.0 1.0
5 14 5v N= +Q 20| 6 14 44 N+1 vK 650 90 50(13 12 1a V= vT -80 13.0 1.0
16 10 1¢ S+3 #4 40( 8 3 4ea N+1 ¢K 650 90 50| 2 4 240+1 +Q -110 100 4.0
1 3 340-1 vA 6.0|11 16 44 N+1 «Q 650 90 50| 8 3 240+2 ¢9 -130 70 7.0
6 9 INS= vA 9.0|13 12 44 N+1 vK 650 90 5015 5 240+2 YA -130 70 7.0
13 11 1¢ N+1 4 90|15 5 44 S+1 ¢3 650 90 50| 6 14 14 O+2 +8 -140 4.0 10.0
4 15 24 O= ¢ A 13.0| 7 10 44 N= +6 620 20 120| 7 10 INO+2 ¢4 -150 1.0 13.0
7 2 14 0+1 ¢A 13.0 1 34 N+2 v5 200 0.0 140|11 16 INS-3 &J -150 1.0 13.0
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